
Bulletin Date:

TTI Model Number: 018 395 010, 011 Starting Serial Number:

M12 FUEL™ 3/8” EXTENDED REACH RATCHET VERSION A - D2020

Feb-21
M12 FIR38LR

SERVICE PARTS DIAGRAM

www.milwaukeetool.asia



Bulletin Date:

TTI Model Number: 018 395 010, 011 Starting Serial Number:

M12 FUEL™ 3/8” EXTENDED REACH RATCHET VERSION A - D2020

ITEM PART NUMBER PART DISCRIPTION QTY (PCS)

1 204522002 3/8" ANVIL SERVICE KIT 1

1a - FRICTION PLATE 1

1b - RETAINING RING 1

2 - YOKE 1

4 - BUSHING 1

5 - CRANK SHAFT 1

6 613249001 CARRIER ASSEMBLY 1

7 613250001 PLANET GEAR 3

8 637796001 WASHER 1

9 613251001 RING GEAR 1

10 613248001 MOTOR HOLDER 1

11 661487001 M3 X 10MM FLAT HD. MACHINE T-10 SCREW 3

14 613326001 BUSHING 1

15 - M3 X 8MM PAN HD. TAPT. T-10 SCREW 3

16 - BEARING PLATE 1

17 - BALL BEARING 1

18 - MOTOR PLATE 1

19 662573002 M2.5 X 31MM SOCKET HD. HEX DRIVE SCREW 3

20 696054001 HEX NUT 1

21 662675001 M4 X 6MM FLAT HD. T-15 MACHINE SCREW 4

22 660230016 M3 X 10MM PAN HD. TAPT. T-10 SCREW 4

23 - HOUSING COVER - RIGHT HOUSING HALVE 1

24 - HOUSING SUPPORT - LEFT HOUSING HALVE 1

25 673021004 SPRING PIN 1

26 633822001 SWITCH PADDLE 1

27 532689001 SWITCH LOCK-OUT 1

30 204525012
HOUSING KIT

018395010 ASIA VERSION
1

30 204525018
HOUSING KIT

018395011 ONLY JP VERSION
1

31 208560001 3/8" YOKE / BEAM / GEARCASE ASSEMBLY 1

32 208557001 ELECTRONICS ASSEMBLY 1

33 208302002
ROTOR ASSEMBLY

018395010 ASIA VERSION
1

33 208302004
ROTOR ASSEMBLY

018395011 ONLY JP VERSION
1

34 941050128
SERVICE RATING LABEL

018395010 ASIA VERSION
1

34 941050576
SERVICE RATING LABEL

018395011 ONLY JP VERSION
1

36 693005001 3/8" TO 1/4" ADAPTER (NOT SHOWN) 1

37 204522021 YOKE CRANKSHAFT BUSHING KIT 1

38 203721004 MOTOR PLATE ASSEMBLY WITH PACKAGING 1

1200 - TYPE E GREASE 1

M12 FIR38LR
SERVICE PARTS LIST Feb-21

www.milwaukeetool.asia



Bulletin Date:

TTI Model Number: 018 395 010, 011 Starting Serial Number:

M12 FUEL™ 3/8” EXTENDED REACH RATCHET VERSION A - D2020

M12 FIR38LR
SERVICE INSTRUCTION Feb-21

www.milwaukeetool.asia



Bulletin Date:

TTI Model Number: 018 395 010, 011 Starting Serial Number:

M12 FUEL™ 3/8” EXTENDED REACH RATCHET VERSION A - D2020

M12 FIR38LR
SERVICE INSTRUCTION Feb-21

www.milwaukeetool.asia


